Practice Exam M 210.
Read the questions carefully and then mark the correct answer.

1 -  Any part of the body that is away from the mid line is said to be :

a. Medial.

b.Lateral.
c. Distal.

d. Posterior.

2 - The term – thoracic – refers to the:

a. Neck.

b. Wrist.

c. Arm.

d. Chest.
3 – Para sagittal plane divides the body into:

a. Equal right and left halves.

b. Un-equal right and left parts.
c. Equal anterior and posterior parts.

d. Un-equal anterior and posterior parts

4 - Which of the following body cavities that is NOT lined with a serous membrane?

a. Pleural cavity

b.Pericardial cavity

c.Peritoneal cavity.

d.Mouth cavity
5- One of the following matches about tissues is NOT correct.

a- Lacuna in cartilage ------ contain osteoblasts.
b- Fibroblasts ------ common cell in connective tissues. 

c- Short dark branching fibers ------ are reticular fibers.

d- When nuclei of cells are in parallel lines ------- the tissue is dense regular connective tissue.

6- All the followings are distinct features of epithelial classification, except: 
a- Pseudo stratified epithelium is made of single cell layer of the same heights 
b- Simple columnar epithelium can be ciliated and non-ciliated. 
c- Stratified squamous epithelium is composed of several layers of cells

d- Cuboidal epithelium is made of single layer of cube-like cells with large central nuclei

7- The fibroblast is one major cellular component of 

a- Epithelial tissue

b- Connective tissue
c- Muscular tissue

d- Nervous tissue

8- What type of epithelial cells is as tall as they are wide?
a- Stratified
b- Squamous
c- Cuboidal
d- Columnar

9- What type of epithelium appears stratified, but is not?
a- Epithelial tissue
b- Endothelium
c- Transitional
d- Pseudo stratified
10- What type of epithelium forms the epidermis?
a- Simple squamous epithelium
b- Simple cuboidal epithelium
c- Simple columnar epithelium
d- Stratified squamous epithelium


11- A connective tissue cell that contains large dark granules usually located near blood vessels is

a- Merkel cell.

b- Langerhas cell.

c- Plasma cell.

d- Mast cell.
12- If the secretory part of a gland is circular group of cells then this gland must be:

a- Tubular.

b- Simple.

c- Alveolar.
d- Compound.

13- One of the following matches about hair is NOT correct.

a- Cortex ------ is the middle layer of the root of hair.

b- Hair matrix ------ place of growth of a hair.

c- Growth phase takes ------- 3 months.
d- Hair papilla ------ receives blood supply.
14- One of the following matches about skin is NOT correct.

a- Deep dermis ------ reticular region

b- Blood supply ------ only in the dermis.

c- thin skin ----- has 4 layers.
d- Epidermis ------ is thicker than dermis
15- One of the following matches about skin is NOT correct.

a- Melanocytes ------- are not found in stratum granulosum.

b- Langerhans cells ------ contributes to skin color.
c- Merkel cells ------ are few, deep and related to nerves.

d- Stratum granulosum ------ is superficial to stratum spinosum.

16- Thick skin has:

a- Double layers of stratum basalis.

b- More melanocytes.

c- Extra layer – the stratum lucidum.
d- Thicker stratum granulosum.
17- The lateral end of the scapular spine continues anteriorly and  forms the:

a. Acromion process.
b. Coracoid process.

c. Glenoid cavity.

d. Subscapular fossa.

18 - One of the following matched pairs is NOT correct:

a. Medial epicondyle--------  Lower end of humerus

b. Inter condylar ridge-------Lower end of femur
c. Olecranon process---------Upper end of ulna

d. Medial malleolus-----------Lower end of tibia

19- A head, neck, one large and one small tubercles and a sulcus are features of:

a. Upper end of femur.

b. Upper end of humerus.
c. Lower end of humerus.

d. Upper end of ulna.

20– Which of the following is the largest bone?

a. Radius.

b. Humerus.

c. Femur.
d. Ulna.

21- The middle finger of the hand articulates with the:

a. Scaphoid.

b. Lunate.

c. Hamate.

d. Capitate.
22- Greater trochanter is present on the:

a. Ilium of hip bone. 

b.Upper end of tibia.

c. Upper end of femur.
d. Lower end of tibia.

23- One of the following matches about appendicular skeleton is NOT correct.

a. Ischial tuberosity -------- hip bone.

b. Trochlear notch -------- ulna.

c. Deltoid tuberosity ---------- humerus.

d. Medial malleolus -------- fibula.
24- The tibia articulates with:

a. Femur --- fibula --- and talus.
b. Calcanium ---- femur --- and fibula.

c. Patella ----- femur ---- and navicular

d.Femur ---- patella ---- and calcanium. 

25- In the thoracic cage which of the following are false ribs?

a. 6 and 7.

b. 1st and second.

c. 11 and 12

d. 8 , 9 and 10. 

26- The lamina (part of a vertebra) is present between:

a. The body and transverse process.

b. The body and spinous process.

c. Transverse process and spinous process.
d. Pedicle and the transverse process.

27- The ilium, ischium and pubis meet at the: 

a- Ischial tuberosity.

b- Acetabulum.
c- Pubic symphysis.

d- Obturator foramen.

28- The two parietal bones are united to the occipital bone by

a. Sagittal suture

b. Lambdoid suture

c. Coronal suture

d. Metopic suture

29- Roofs of the orbits are formed by

a. Frontal bone

b. Parietal bones

c. Occipital bone

d. Temporal bones

30- All the following structures are parts of the ethmoid bone EXCEPT 

a. Cribriform plate

b. Superior nasal conchae

c. Middle nasal conchae

d. Inferior nasal conchae

31- Which of the skull bones has a body and two wings?

<C>Zygomatic.

<C>Temporal.

<C>Sphenoid.

<C>Frontal.

<C>Occipital.

32- Which of the following bones has frontal, zygomatic and alveolar processes?

<C>Sphenoid.

<C>Temporal.

<C>Parietal.

<C>Zygomatic.

<C>Maxilla.

